GRADE 9 & 10 - CONTENT STANDARD #9
FORMAL ASSESSMENT A

Name Date

Transtormation

This problem gives you the chance to

W use the distributive law to rewrite algebraic expressions
in equivalent forms

- Rewrite each of the expressions in the left column so that they appear in the
form listed in the right column.
What are the values of A, B, C, D, and E in each case?

Rewrite this function in this form
L 2(x+3(x-20x+1))) A(x +B) A=
B=
2. -3(x-2)*+4 C +x(B + Ax) A=
B:
C=
3 4x—3+8x+4 Ax+B
. - A=
-x-3 2x-3 (Cx+D)(Ex+D)
B=
C=
D:
E=
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Transformation

A Sample Solution

'Sam[?le solutions are given below: other sequences of solutions are possible
if a different order of distribution is used.

L., 2(x+3(x-2(x+ 1))
-2x-6x+12x+ 12
-8x+12x+ 12 A=4
' 4x+12 B=3
4(x+ 3)
2. -3(x-2)2+4 )
-3 +12x-12+4 A=-3
-3 +12x-8 B=12
-8 +x(12-3x) C=-8
3. 4x-3 + 8x+4
-x-3 2x-3
A=-46
(4x-3) 2x-3) + (Bx+4) (<x~3) B=-
x—-3) 2x-3) C=-1
D=-3
8x2—6x~12x+9-8x2—4x—24x— 12 E=2
(-x~3) (2x-3)
—46x-3

(-x-3) 2x-3)
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